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The results given in the below table were
obtained ::luring_ kinetic studies of the

following reaction :

2A+B - C+D

A itial rate
Experiment ot 1| 1
I 0.1 01 | 6.00%x10~73
11 0.1 02 | 240x102
11 0.2 0.1 1.20x10~2
Y X 02 | 720x10"2
V 0.3 Y 2.88x1071

Xand Y in the given table are respectively :
Options :

40503639076. 04,04

40503639077, U-4,0.3

40503639078, 0-3,0.3

40503639079. 03,04
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frefafaa afufwa F wfas w77 F <rE
= 9t H f33 T gftomm 9 3
2A+B - C+D

A B e
ST m[ﬂlllj_ 1 ml!!llij_l molL. 1 ?‘:lfl‘l -1
I 0.1 0.1 6.00%10~3
11 0.1 0.2 2.40x10~2
I 0.2 0.1 1.20x 102
Y% X 0.2 7.20x 102
V 0.3 Y 2.88x 101

S TS grut H X aAY wH9: ©



Options :

40503639076. 04,04

40503639077, U-4,0.3

40503639078, 03,03

40503639079. 03,04
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The size of a raw mango shrinks toa much
smaller size when kept in a concentrated
salt solution. Which one of the following

processes can r_-xplain this ?

Options :

40503639080, ialysis

40503639081, DPiffusion

40503639082, OSMOsis

40503639083. Reverse osmosis
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Options :

40503639080. Ie



40503639081, T9HT

40503639082 T

40503639083, ITHH TUHT
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Amongst the following statements

regarding adsorption, those that are valid

(a) AH becomes less negative as

adsorption proceeds.

(b) On a given adsorbent, ammonia is

adsorbed more than nitrogen gas.

(c) On adsorption, the residual force
acting along the surface of the

adsorbent increases.

(d) With increase in temperature, the
equilibrium concentration of

adsorbate increases.
Options :
40503639084, (3) and (b)

40503639085, (P) and (c)

40503639086, (¢) and (d)

40503639087, () and (a)
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Options :

40503639084, (@) T (b)

40503639085, (°) T (€)

40503639086, (& T (d)

40503639087, () T (2)
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The molecular geometry of SFg is
octahedral. What is the geometry of SF,
(including lone pair(s) of electrons, if any)?
Options :
40503639088, ~duare planar

40503639089, | yramidal

40503639090, 1etrahedral

40503639091, |rigonal bipyramidal

lelegedumia;
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SF, ! Afoge SAfAfq Tewesd 1 SF,
=i A (oM & Uha (i) & 9ied,
afg FE ) FAE?

Options :

40503639088, 1 HHACTH

40503639089. HE

40503639090. e

40503639091, e fafafad
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The number of subshells associated with

n=4 and m= -2 quantum numbers is :

Options :

2

40503639092.

40503639093, 4

e

40503639094.

6

=

40503639095.
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e AT n=4 9 m= — 2 & 1Y T2=1

Options :
40503639092, 2
40503639093, 4

40503639094, 8

40503639095, 16

Question Number : 31 Question Id : 40503610736 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match the type of interaction in column A

with the distance depc-ndence of their

interaction energy in column B :

A
(I) ion-ion (a)
(IT)  dipole - dipole (b)

(ITf) London dispersion (c)

(d)
Options :
40503639096, (D-@). (IN-(b), (TM)-(d)

40503639097, (D-(@), (IN)-(c), (T)-(d)
40503639098, (D-(), (I)-(d), (IT)-(c)

40503639099, (D-(@)- (I-(b), (TI)-(c)

lelegedumia;
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Options :
40503639096, (D-(@), ()-(b), (II)-(d)

40503639097, (D-(@), (I-(c), (IL)-(d)
40503639098, (-(0), (ID-(d), (II)-(c)

40503639099, (D-(@), (I-(b), (TI)-(c)

Question Number : 32 Question Id : 40503610737 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Three elements X, Y and Z are in the ard

period of the periodic table. The oxides of

X, Y and Z, respectively, are basic,

amphoteric and acidic. The correct order &C@M@%@dwtﬂa

of the atomic numbers of X, Y and Z is:

Options :



40503639100, X <Y <Z

40503639101, £ <Y <X

40503639102, X <Z<Y

40503639103, Y <X<Z
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T a1 X, Y T Z 318 ARl & gaid SAades
HE1 X, Y 91 Z FI AlEEe FA9: 91,
Iy qon oFEg €1 X, Y 99 Z 3 W
T 1 WE FH 2

Options :

40503639100, X <Y <Z

40503639101, 2 <Y <X

40503639102, X <Z<Y

40503639103, Y <X<Z
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Cast iron is used for the manufacture of :
Options :
40503639104, Wrought iron and steel

40503639105. wrought iron and pig iron

40503639106, P16 iron, scrap iron and steel



40503639107 wmught iron, pig iron and steel
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e

Toal olg = fFaF I & fau 3= |
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Options :
40503639104, | oo el T EE

40503639105, T=a1 TATET T =1 <Tel

40503639106, T CE], T TIRT T T

40503639107, Tl <Iel, =l «lel 791 2¥1d
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If you spill a chemical toilet cleaning liquid
on your hand, your first aid would be :
Options :

aqueous NaOH
40503639108.

aqueous I‘\IH3
40503639109. :

40503639110, 2dueous NaHCO,

40503639111, ¥ Hesar
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2o &1 3794 21 W T e €, 1 SeR wgfoe
ITER AT ;
Options :

40503639108, oA NaOH

40503639109, S NH;

40503639110, A NaHCO;

40503639111, L
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Two elements A and B have similar
chemical properties. They don’t form solid
hydrogencarbonates, but react with
nitrogen to form nitrides. A and B,
respectively, are :

Options :

40503639112, Ya and Rb

40503639113, Ya and Ca

Li and Mg
40503639114.

40503639115, Csand Ba
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< 9 A 91 B % THH T9EE T E
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Options :

40503639112, Na T4 Rb
40503639113, Na @41 Ca
Li 991 Mg

40503639114.

40503639115, Cs @41 Ba
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The shape/structure of [XeF;]™ and
XeOF,, respectively, are :
Options :

trigonal bipyramidal and trigonal
40503639116, PPy ramidal
pentagonal planar and trigonal
40503639117, Pipyramidal
trigonal bipyramidal and pentagonal
40503639118, Planar

40503639119, octahedral and square pyramidal
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[XeFs] ™ 41 XeO,F, T AR/ HTF FHHAT:
€
Options :
Framame fafarfaet qan fomamame
40503639116, BT

TIHI0Tg FHATd 9491 Sraaaare
40503639117. ARUEE

Bragaaiy fgfaefast a9 9==+ivig
40503639118, TacITA

40503639119, FETCHIA Tl T TS
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Simplified absorption spectra of three
complexes ((i), (ii) and (iii)) of M™" ion are
provided below; their A . values are
marked as A, B and C respectively. The
correct match between the complexes and

their e values is :

s

-,

BREES e

=

Absorption h

™

b N

T
]
1
1
1
1
1
g
A
\ 1
1
1
1
1
1
1
1
1

AMmax Mmax Mmax
Wavulungth {nm)

()  [M(NCS)](~6+m) M collegedunia
(i) [MF](-6+n) e
(i) [M(NH;).]" .



Options :

40503639120, -2~ @) B-(i1), C(ii)

40503639121, £3-(1), B-(1), C-(ii)
40503639122, A-(if), B-(iii), C-(i)

40503639123, - (1i), B-(1), C-(ii)
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(i) [M(NCS)](~6+m)
() [MEg](~6+m

(iii) [h{{NHE]ﬁ}" ¢
HFell adl 3TF A
e

Options :

madx

40503639120, -2~() B-(i), C(ii)

40503639121, AA-(11), B-(1), C-(iii)

40503639122, A-(11), B-(iii), C-(i)

lelegedumia;



40503639123, 3-(iii), B-(1), C-(ii)
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The one that is not expected to show

Isomerism 1s ;
Options :

Ni(NH.,).Cl
40503639124, LINH3), (L]

20503639125, |INiNHz3)4(H,0),1**

40503639126, LNi(EN)3]

Pt{NH,),Cl
40503639127.[ (NHj),Cl]

Question Number : 38 Question Id : 40503610743 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T T
Options :

Ni(NH,),CL,
40503639124, LVINH;),CL]

_ .
40503639125, | NUNH3),(H;0),]

40503639126, LVi(en);]

Pt{NH.),Cl
40503639127.[ e
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Arrange the following labelled hydrogens

in dc{reaﬂmg order of acidit}-' :

NO, C=C(),

COO !fI—Ijb
O—(H) -
_'\._.JC
Options :

- - -
40503639128, 0~ ¢>d>a

- > -
40503639129, <P >d>a

40503639130, P7a>c>d

> - =
40503639131, €~ P>a>d
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e eTefer eTsgrsi =l A=ATFal & =20

% H HHESG HiTaU
N@2 C C-(H),
d::j:l/ CDC‘J
N O—III

Options :

- - -
40503639128, 0~ c>d>a

- > -
40503639129, <P >d>a

40503639130, P7a>c>d

&@@ﬂ] ege dun
India’s largest Student ew Platform



= - =
40503639131, €~ P >a>d
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The major pmduct of the follf}wing

reacbon 1s :

OH conc. HNO4 + cone.
Cl 13 HT*J‘ HEB(-]’l
-
"‘,_\_ e N{‘jg
Options :
?1 i
H.C.. ..
T N o,
40503639132. Ll
OH
I IEC e e,
O,N "~ “""‘"'/L‘"NDE
40503639133.
OH

40503639134. NO,
OH
o
NO,

40503639135.

Qf collegedunia:
ot
India’s largest Student Review Platform
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frafafiaa Afafr 1 727 368 © :
| ‘5|3-'H dig HNO; + 9173
CH, ‘ H,50,
e ”
o,
Options :
OH
i
40503639132, N
OH
SR SN0,
40503639133,
OH
HyC. _L__NO,
40503639134. NO,
OH
H3C-_ H NO,
40503639135. s
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The correct observation in the [ nllowing
reacthons 1s :

e Seliwanoff's . 7
Cleavage reagent
(Hydrolysis)

’ Gly cosidic bond
Sucrose :

Options :

40503639136, L Ormation of red colour

40503639137, Formation of blue colour

40503639138, Formation of violet colour

40503639139, C1ves no colour

Question Number : 41 Question Id : 40503610746 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Frafafaa sifafsrn § 98 Jem 2
b (51 #Tm=) ATE g
Options :

40503639136, el T ST
40503639137, el TT =l =
40503639138, ST T = =T

40503639139, F1E T Tl Wl
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Consider the reaction sequence given

below :
g, OH OH+Bro. ... (1)
H,0O
rate = k[t-BuBr|
CH,
ol ﬁ,l\\ +HOH+Br® ____(2)

C,H:OH H,C  CHj

rate = k[t-BuBr][OH |

Which of the following statements is true :
Options :
Doubling the concentration of base
will double the rate of both the

40503639140, reactions.

Cha_ngf_ng the concentration of base

40503639141 will have no effect on reaction (2).

Changing the concentration of base

40503639142 will have no effect on reaction (1).

Changing the base from [j]—[e to

E'GR will have no effect on reaction

40503639143. (2)
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= g ™ aAfafsan sm#F9 W fa=n
Fifary ;

S O B e o (1)
Bt Ho .
rate =k|[t-BuBr]|
CHj
OH® L +HOH+Br®___(2)

{_:;_,.f T
GoH-0H H,C~  CHy

rate =k|[t-BuBr| [DI-T% ]

Frafafea | 4 & @ %o Tl 87
Options :
AR F A BTN F WA
40503630140, ST ARAIS T T G N S
G 1 Fr=dl 1 Faar T 4 (2)
40503639141, % FIE FHE T T

AR 1 Fr=dl 1 F8e 92 A4 (1)
40503639142, T FIE T T TS|

¥R F1 OH- ¥ “or # FeEH W

40503639143. e TG T Tl i
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An organic compound ‘A" (CgH,,0)
when treated with conc. HI undergoes
cleavage to yield compounds ‘B" and “C..
‘B’ gives yellow precipitate with AgNO,
where as 'C’ tautomerizes to ‘I, ‘D) gives

positive iodoform test. ‘A" could be :

Qcollegedunia;



Options :

¢ Y~0-CH,-CH=CH,

40503639144.

W

¢ “H-CH,—O-CH=CH,

£
"

40503639145.

f '
L ".\\

¢ H)—0—-CH=CH-CH,
40503639146, “—

HC—/  “-0-CH=CH,
40503639147. =¥
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UF FECE ANE ‘A (CoH,0) H 5
O HI & @1y Afafwfa s 5 g, @
S faee 2T & 9 AT ‘B 99 ‘C e
B 21 B AgNO, F T Hiel T 1 F4
oa1 & wefE ‘C’, ‘D’ H SaEafad B g1 ‘D’
HHNIHS AR g 3 €1 ‘A’ '
HHdI 2 ;

Options :

" “)0-CH,-CH=CH,

40503639144.

W

" “~CHy—O-CH=CH,

40503639145.

k1
Yy ".‘.1

¢ H—O-CH=CH-CH;

&

40503639146, —

&m!ﬂegeduniaa



HyC—/ Y% 0-CH=CH,
40503639147. h—/
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The major product obtained from E,-
elimination of 3-bromo-2-fluoropentane
15

Options :

Ilir
CH.CE IE—CIT—CH=CT 12
40503639148. i
Cl T3C] IZCI I ={|:'— F
CI IF,}
40503639149. :
FTr
E'.qu —CHE— C=CH —CH3
40503639150. -
|
CI'H—CTI=‘CIT—CII—CII,i
40503639151. : ;

Question Number : 44 Question Id : 40503610749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3-SMH-2- ARG % E,~Taaii | 9 JeA
IR T :
Options :

Ilir
CH..Cl IZ—CH—C”=CT 12
40503639148. =




CH,CH,CH=C—F

40503639149.

40503639150.

40503639151.

CH,

Br

I
CH; —CH,-C=CH-CHj,

|_.‘

I
CH, —CH=CH—-CH-CH,
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Two compounds A and B with same
molecular formula (C;H,O) undergo

Grignard’s

methylmagnesium bromide to give
products Cand D. Products Cand D show

reaction

following chemical tests.

with

Test C D
Ceric ammo-
nium nitrate |Positive Positive
Test
Turbidity Turbidity
Lucas Test obtained after| obtained
five minutes |immediately
lodoform Test |Positive Negative

Cand D respectivelj,-' are :

Options :

C=H,C-CH,-CH,-CH, -OH;

D = H,C~ CH, —CH —CH,

40503639152.

OH

&C@ﬂﬂ@g@dunﬁas



C=H,C-CH,-CH,-CH,-OH ;

El".Ha
1J=|13L:—r;|1—(::£|
H
40503639153. s
tle
C=H,C—CH,—CH-CHj,;
CH,
-
D=H,C-C-OH
|
40503639154, CHj,
tlej
C=H,C—C-OH;
|
CH,
D=H3C—CH2—LI“H—CH3
40503639155, OH
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21 AT A a1 B fomet snfoass 99 (C,H,0)
HHA 2, AfgerriiaE smse & 9y firare
AT F3& IR C 9 D 24 &1 IR

C a=n D fFae=Aferfiaa et sy 29 ¢
gLiEu iz D

Af smrfm

:I'IBEE "-TET&TUT HHehldrHe b cH=h
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The work function of sodium metal is

441x10" ] If photons of wavelength

300 nm are incident on the metal, the

kinetic energy of the ejected electrons will
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x10-21 7.
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The heat of combustion of ethanol into
carbon dioxids and water is — 327 kcal at
constant pressure. The heat evolved
(in cal) at constant volume and 27°C (if all
gases behave ideally) is (R=2 cal mol !
K Yy 000
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For the disproportionation reaction
2 Cu(aq) = Cu(s) +Cu?* (aq) at 298 K,

In K (where K is the equilibrium constant)

is _ x10-1,
Given :
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The oxidation states of transition metal
atoms in K?_CrED?, KMnD,4 and KEFDD4,
respectively, are x, y and z. The sum of x,
yandzis
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The ratio of the mass percentages of 'C &

H and ‘C & O’ of a saturated acyclic

organic compound ‘X" are 4: 1and 3 : 4

respectively. Then, the moles of oxygen

gas required for complete combustion of

two moles of or ganic compf}und X is
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